2008 &= E-o 2k dulks] A

BA A - R (FA) - AR - AT of 412 33a ) 257

60,441,700 54,516,871 5,924,829
[%  43,813,834]
(7] 345,979]

R ESEE

(= 3,912,966]
E 30,802]
(A 12,338,119]

8,470,531 7,047,735 1,422,796
[= 5,827,547]
(7] 345,979]

ArEST AEAA ALY

= 557,365]
[5 30,802]
[A] 1,708,838]

8,470,531 7,047,735 1,422,796
[ 5,827,547]
[7] 345,979]
TRl A (= 557,365]
[3 30,802]
(A 1,708,838]
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01 A& H] 23,300 25,990 A2,690
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10 FARAH A= 7,800 9,000
O &g NET-WORK ¢A%+3] ofn) 60,0009 #4072 +13] = 4,800
OSHEEAL Y wSofn 60,000 x50 %13] = 3,000
307 F1zkold 35,740 35,740
02 WA HEZ 35,740 35,740
O7Nz=Fewa Hsta 100,000 %57 %129 = 6,000
O7|2Feulzm 2L 2,974,000 x2t x5 7 & = 29,740
PRS- 10,400 10,400
301 LRt AgH 8,400 8,400
10 FAREAN G H 8,400 8,400
O A} 7 o] 10,0009 %1078 x12¢Y = 1,200
Fael Al A Aot (uEel) 60,0009 3 *12¢ = 2,160
Oy HAA LG Gk A= 30,0009 x2+7L 129 = 5,040
307 F17kold 2,000 2,000
01 ojs® e 2,000 2,000
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FZel BEAAAEEY [= 8,000]
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(= 3,429]

05 W E= 11,429 0 11,429
OF-ZRAEAAAE &G 11,429,000 %14 = 11,429
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307 Wzte] A [A] 359,473]
05 W E= 1,711,775 0 1,711,775
OA G EH qu] 2 2 ALY 1,711,775,00090 %12 = 1,711,775
[= 1,198,242]
[= 154,060]
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01 =ujodn] 4,320 3,375 945
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B A - @9 (FA) - Ag = Aol 33a 4
301 Ankr A 50,600 2,125 48,475
01 A3 R A s= 50,000 0 50,000
OFFdolAETAY TF A8+ 50,000
-SHrt R Td tieot E 17,000,000 %14] = 17,000
“FEIT AR E 33,000,000 %14 = 33,000
10 AW B 600 2,125 A1,525
OA25% AAA PAE714 o3t 3,00091+200% = 600
405 AAEH S 4] 300 0 300
01 AL EF3H 51 300 0 300
OFHEFTIFAL AFF7) 300,000) 1] = 300
35,350,711 36,924,808 A1,574,097
[=  28,280,567]
R Ao
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[= 7,414,504]
54
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